EARAROBEEIERT — 2 N— IBISH —F

2012828120 (H) 1H*ER6H

R Xl

REEF 4t [HETE] i

‘ [Riz] ¥ ‘ [REBE] — | & (%) 1600M THE

[~®%] 1 % :5,000,000 @ ~ 23 :2,000,000H ~ 33&:

1,300,000 § 4 & :750,000 @ 5 7& :500,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
Mgl 757 fo3 | BEED 1:(45)).9 65 |37.0| 87.4 | 10 | 422 fgaii— (&)
R:Fa72 480 B:T74—HELY (-2) paibie]
ol7l1al A B THI o F # 3 ﬁ*’%oﬂﬁ (11:4;/.42) 1-1 37.9| 841 | 4 | 474 Zﬁﬁg (=)
ARG TTR Bk AhHAT 2| Firmans
i i 4 3 | SHER 1:41.8 1-11 37.4| 79.3 | 3 510 | =/ =HF (EH)
sEl6| 7LvT7-2 54.0 3 1/2) (g |ETRAR-LF TR W)
Z:va7x BXHCTaT BHH S
4 3 | SHZ 1:42.0 2-2 38.5|75.7 | 6 426 | RARAS ()
418 |15| o= —hi 54.0 (1 1/2) Coy | B *raykzr-u
R:xAI=FF—Z B:AN—L— J—HT L
511l vonsa—> 3 WE%T?;% 1:42.2 33 |38.5| 743 | 1 | 428 Eggﬁl‘l (=)
. 11/2 o | RERRB=
A:Bernardini B: 277 1T ) — ( ) -2) ?i’a‘;T—L\
4t 3 | SEXH 1:42.3 5-5 38.5| 73.6 | 5 476 | KFIERK (55iA)
: . XAxY=UF EvJlLy RT7—L
3 ¢ 4 3 | BPBE 1:42.6 14-14 37.6| 72.2 | 13 460 | AFERR (E@)
I AXAITO/)NJ— 54.0 1 3/4 EHFE
L=/ F¥LLY b BRAIFHT ( ) ) ldar7-n
PR SN PEL LR 1:42.7 12-12 [ 38.1| 71.2 | 7 428 | NEFRER (i)
Ry TA4 > 4 3 el
: (1/2) BEHEX
Qih—B LR BORTERIA— | Ssag
. B3 | BBIES 1:42.7 6-5 38.8| 69.6 | 2 516 | AREHEL (F#)
,7\’,<VIJT [\_[/, s 54.0 (nF) w2 | B HrF-L-vry
L AATAT v — Bv—TFNTIv— =Y Tr—LI
SIS UL 1:42.7 9-9 38.5| 70.8 | 9 456 | KT (5EH)
1IO0—>23>2 [B] 3 E‘i‘% : i
. e o | TATLAR
LY LF14N—b B:¥3TIMIXF e 2) LAY Eie ]
IE—4 # 3 25*392-?1 1(:14/22.>8 13-13 | 38.0| 70.3 | 12 | 404 %ﬁll{’g% (i)
. pES
QTP ERF A9 I B YATAHE Y b RN Pogi
REREAR 1:43.2 16-15 | 38.0| 66.8 | 16 | 450 |m=#Imtd (55im)
Frl)—-l—va [B] % 3 | BE i
: (2 1/2) - HIEE &
T RIAYT 0N B A5y T 0 ks
_ 4 3 | IBESEK 1:43.8 6-8 39.8| 59.2 | 14 | 446 |BFHL (EXH)
,;f,{ \|~72|:1,_14 e A51.0 3 1/2) (-1g) | T RUEE
L:TL>FFE2Ts BiL-—2F Y% — LR g
111 %F-Lv—L—> A e 90 9 |307| 85| 8 | a0 |EHEL G
LT RYAVYL—> B:bhyl—Trr89— S H—L—-JvIX> - T7—LARS
s A B3 | AEL 1:44.5 3-3 40.8 | 54.8 | 11 482 | BEEE (FH)
15/8|16| ¥ — ¥~ I~NT 54.0 3172 o | emea
QYR TEEAY B q P INF @172 R i Py
N 2 = B3 | SeliE— 1:45.7 14-15 | 40.5| 44.9 | 15 | 486 |BEXEE (E#)
16/ 713 By T Iv—=== 54.0 @) g (B EvY
RTUHARILE B:0H I hH S 10| spigig
@ 71 L
) 51.1-37.6
NA> &AL |12.5-11.3-12.7-13.3-13.5-12.7-12.4-12.5
® I —F—@EBIERL
1T=7r=
230—7F—
30—4— 14,15(2,16)9(8,11,12) (1,10)6-7-3(4,13)-5
430—F— |14,15(2,16) (8,9,12)11(1,10)6,7,3,4(5,13)
[ N3
B O 8 5,160 714K 8-14 4,220 7 E 4-7 3,380M RPEL ) 6-8-14 25,580
8 B 8 1,260 6-8 4,360 B = 8-14 16,920 B 8-14-6 297,310
14 230M 6-14 670M B H 8-14 44,5904
6 210M

ABICOVWTRDTEEERROODE. TR LIV,




